TUB colourimetry with normalization to Y=90,C=Yyy : Yy = 25
Equations for Yellow (J), Blue (B), White (W), Grey (U) Black (N)
Tristimulus value

Y;+Yg =66 + 24 = 90[1]

Chromatic value

CaB,2,
CaB,28=Cag 28/ Y& [5]

(Ca2: Y) gt~

=(-60, 24) ' \

ICaB,2,41 = ICaB 2,8l = 60 [2]
Contrast
C=Yw:Yn=90:3,6 - 60
=25:1[3] :
Chromaticity difference 1 (?2%262)
Cag2a/Ys 4 1 =(60, 66)
1
I

CIE colourimetry with normalization to Y=100,C=Y,

Equations for Yellow (J), Blue (B), White (W), Grey\%u) Black (N):
Tristimulus value

Yy +Yg = 72 + 28 = 1001]

Chromatic value
ICag 2,0 = ICag 2,8l =
Contrast

C=Yy : Yy =100: 00 [3]
Chromaticity difference 1
CAB2,57Cag2,0/ Yo [4 1
cag,2,8=Cag,2,8/ Ye [5] :

(Cap2 Y) o
=(-66, 28)"
I

66 [2]

eew40-5a env00-1n

eew40-6a env00-2n

TUB colourimetry with normalization to Y=90,C=Yyy : Yy =25:1

Equations for Green (G), Magenta (M), White (W), Grey (U), Black

Tristimulus value

Y + Yy = 54 + 36 = 90[1]

Chromatic value

ICag 2,6l = Cag 2Ml

Contrast

C=Yw :Yn=90:3,6
=25:1[3]

=60[2]

Chromaticity difference
CaB2,6=Ca 2/ Yo [4] N
CaB,2M=CaB 2 M YM 5]

Yy =25

Uy, Black (N)
Ostwaldand antagonistic (a) colour
Yo+ Ya = (47+X) + (47-X) = 90[1a]

TUB colourimetry with normalization to Y=90, C=Y,
Equations for Cyan (C), Rot (R), White (W), Grey
Tristimulus value

Yo + Yg = 48 + 42 = 90[1]
Chromatic value

ICag,2,cl = Cag,2,Rl = 60 [2]
Contrast
C=Yy :Yy=90:36 60
=25:1[3] (Cass Y)
(30,: 66)
(Crg2: Y) (Cag 2 Y)
OG5 e L  (Cag2
=(-60, 48)7 =29 =60, 42)

Chromaticity difference
CaB,2,c=CaB2.c/ Y Je [4] N
ca2,R=Ca2Rr/ Yr [5]
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